Released Assessment Questions, 2016
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Grade 9 Assessment of Mathematics ® Academic

DIRECTIONS

Answering Multiple-Choice Questions

Answer all multiple-choice questions. If you fill in morce than
one answer 10 a question, or leave a question blank, the question
will be scored zero. Incorrect answers will also be scored zero.

Answering Open-Response Questions

Do all of your work for each question in the space provided
for the question only.

Write your solutions, including all calculations, clearly and

completely.
Record ALL
your answers to
T multiple-choice and
: open-response questions
There are more open-response questions in this in this booklet.
beceklet than a regular booklet.
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EB A ball is dropped from a height of 25 m. The
ball’s height, H, in mctres, after 7 bounces is
represcnted by the equation below,

H = 25(%)"
What is the height of the ball after 4 bounces?
(D Hoosg)
b Lm H= 25 ( l‘—(o>

c %Ts-m f\:_%_S
(G

E A cubc with a given side length is
pictured below.

-
”
-
rl

— y —

Which algebraic cxpression represents
the arca of one face of the cubce?

2 A= fw

a

b 4x N ('XX'Y)
@ 2 = z

d
-

Remember to write your answers
in your Answer Booklet.

A school is planning a car wash to raisc $600.
* There will be 8 teams.
* Each team will wash 2 cars per hour.
* The car wash will last 5% hours.
* Each team will take two 15-minute breaks.

= 0.5 hows
How much should the school charge per car

to raisc exactly $600?

""i’ﬁkd - 2(5-05) % ¢ x

a $15.00

b ) $7.50 ©00 = B0 p
¢ $6.82 (LOO = EOP
d $6.25 §0 50

pP=50
E¥ Which of the following is equivalent to
A <] e
3(5x-1)-2(3x + 5)?

@9\-13 =15xX-3 - by —-10

9e+4 <9 —(2
c 2lx-13
d 2lx+4
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E Information about the relationship between the
height of a plant and time is shown on the grid
below.

Height vs. Number of Weeks

Height (cm)

» 17

0 1 2 3 4 5 6

Number of weeks

Which table of values shows only information

about this relationship?

Number Height
of weeks (cm)
1 2
2 3
6 5
Number Height
of weeks {cm)
2 1
3 2
5 6
Number Height
of weeks (cm)
1 1
2 2
4 7
Number Height
of weeks {cm)
2 1
3 2
4 4

~
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Number of | Total cost, C
games, n ($)
= ld T \j |
Aoy - ~ ' 3 51
F gs—si 5 85
-3 9 153
) 12 204
=13

1

™

[

B Two golf courses offe ent memberships.
Information about the linear)relationships

between the total cost, C, in dollars, and the
number of games played, n, at these two golf
courses is given below.

First Golf Course

C
&
50
& 40
8 30
(4]
©
= 20
8
> 10
fﬁap » N
T~ 0 1 2 3 4

Number of games

Second Golf Course

Which of the following statements correctly
describes the two relationships?

>‘\ They are both direct variations.

The first is a givect variation, and the second
is a partial variation with an initial value
of $17.

( ¢ _The first is a partial variation with an initial
value of $10, and the second is a dil;gpt

variation.

ﬁ\/ The first_is a partial yzi";{a{i_on with an initial

value of $10, and the second is a partial
variation with an initial value of $17.

W W (—:') A

! The graph below represents Joe’s distance

from a wall as he walks.

Distance From Wall

vs. Time
D
F 3
g 6
Y
wE 4
3
1]
B> 2
o
. >
0 2 4 6 8
Time (s)

Which statement could describe Joe’s walk?

Joe walks rd the wall, stands still and
then walks away from the wall.

\Joe walks aﬂﬁ'rom the wall, stands II§2t’ill

and then walks tow\zyd the wall.

Joe walks ioward the wall, stands still and
then continues to walk toward the wall.

Joe walks gﬁ'{"x from the wall, stands Lﬁu
and then continues to walk away from
the wall. i

N\

NTmuetb
S1=0MUAD+b
Sl= 5+ b

So=0

o, Second 1S dvect
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B} Consider the graph below.

Which of the following is an equation
representing this graph?

a P=2n+6

b P=%n+6

(@P =-2n+6

d P=—%n+6

P

RE

Go to the Answer Booklet and complete
the six open-response questions before
continuing with question 15.

Open-Response

B
=

Open-Response

—h
'y

Open-Response

=y
]

Open-Response

-—t
B

Open-Response

H
=y

Open-Response

page 5
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To indicate your answer, use a pencil to fill in the appropriate circle below completely.

Please read the questions in the Question Booklet;
then fill in your answers below.

Like this: @@

Notlikethiss: ® & @ @

Cleanly crase your answer if you wish to change it and fill in the circle for your new answer.

Fill in only one circle for cach question.

B AN

ol ~ |

|_JORON®)
OGN N©
O} JON©)
®O00O0
CeOO0O
ONON N©
C@0OO0
ONON NO
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El Floored Areas

The diagram of the floor shown below has algebraic expressions for the lengths of its sides, in metres.

—————— 4y - 3 —

'y _] |_ T
5x
e |
2x
+ O lr

—— 3x -3 —»

Determine an unsimplified expression for the total area of the floor, 4, in m?

a={T0(3x~-3) +(XY5x)

Simplify your expression fully. Show your work.
_ z
A= 2l - 21y + 5x2

= 20wt -2 X

_Ar—‘ Sx (Lbc_—S) + Idx (3x-3)

DOx? - 15x + Lbx™ —(x
= 2oyt =2

T
j@ A= OX (x) + 2X (31—3) + 5 (3x-3)

—
-

53" + (bx?* - bx + ISx>™=-1(S5%

—

2 — 2L
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Folding Time

A picce of paper is folded in half, which results in two layers of paper. Then the paper is folded in
half again to make four layers, and so on.

The number of layers and the number of folds arc recorded in the chart.

Number of Layers vs.
Number Number Number of Folds
of folds of layers L
A
0 1 32 —
1 2 I
2 4 28
3 g 24
4 2 .
e 20
E 7’
Determine whether this relationship is lincar §
or non-lincar. 2 16
E }-.w TR N P
Circle one: Lincar 3 .
Justify your answer. | / -
You have the option of using the grid if you wish. 8 /-
E\"Q-(b ‘hr{\'e.f \,IOUL ‘F’O\d W\-Q/ 4 // B S _
Papery e number of loyers =i i

doubles | 0 1 2 3 4 5

Number of folds

The Q)\M’S resutt ta oo Curve
wWhe  ploted ) thecefore
IS ™"n- \,\r\u}f‘.
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Theatre Programs

M-_- :!'L—\‘j\

X-L"'X]
z 250~ 210
500 — 250
= 30
150

L
S

(X ) [u
Number of | Total cost, C
programs, it (%)
350 220
500 250
750 300

o 0. 2D = Cost Pf_f Pmsj(‘um,
Determine an equation to represent this relationship.

C=0.2.n +150

~

A company charges schools to print programs for school plays. Information about the linear relationship
between the total cost and number of programs printed is shown below.

Y:mx+b
220= £(30) +b
220= 10 tb

Show your work.

You have the option of using the grid if you wish.

210-70 =Y
=150 _
\\n\'\'k&?
fee.
I jl}
I I
AR O 0
1 +
o
N

R e )

L t—t—T—




K\, X-Zy+bk =0 3&4—05 —lg=0
o Xl = 2y

LANe

< =% oy = -3x ., Ig
) ko\’ LO (ﬂ b
£ 7‘4’3:? =-lx 4+ 3
fal
(nn
Lt 3 \o Kj\
= Slope. ¥ \j—.rvk'crap
r_Slope s not Negatwvt 6re the sone
< coanot o hWwna | &hine L ey Yy
M= *%ﬁut_l__
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Standard Lines

Two lines are represented by the equations below.

Linel: x=2v+6=20 Line2: 3x+ 6y —18=10

Determine which line could be represented by y = -%x + 3.

Circle one: Line | Both

Justify your answer. Include information for both Line | and Line 2.

La5= -3+ ¥

Convert M= ’;’Z’x-t:é Inte standord e~

K+2y —p= O S Cin see heee B forsat sna

D hne |
31, + lﬂj“ =0 muﬂ"‘;kj eolh Ferm 193 3

% \mw\\OUCU\I\SQ&HIS‘H\QSWL/J

- ™

.

(G AN \1"\2, FO N
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Terrific Ts
A school orders T-shirts from Terrific Ts. The total cost is made up of a set-up fee of $115 and a
cost of $3 Qer T-shn'l N "
Terrific Ts requnres aminimum acder of 25 T-shirts. The school can spend a maximum of $800.
—_———r——
Determine all the possible values of the total cost, C, and the number of T-shirts, », for this situation.
Show your work. C =&n =+ WS
Moy B00 = 30 + 1S Min> 24
Eo0-11S =3~
LS = 3n
30 = LbF¥S
3 = . -
— c - 22
A= 22g. T > [ouwnd dowrn ko
Conusge JJKQA:\ con+t {-'unJ
2
The possible values of » in this situation are <25 £ n < : 5\\ f(f

[CITS) Crnenxymarr~)

Kb C=3n+us
Mo D ng(z,zg)m\{
C: 3(2’
S +11S ST

CZQ"IS.-{—IIS-— (;:“-mq
C="190

$
The possible values of C in this situation are 190 < C = 749

(N\.\. 318 l"ﬂ\\—U'“"‘)

wilchasc
H
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Six and Five Sides

A regular hexagon and a regular pentagon are joined as shown below.

<

Complete the table below with the values of x and y. Justify your answer using geometric properties.

Value Justification using geometric properties
X = Totap Voo im
% ofF Sides
= i?OC('\—'L_) °
X= '2.{20 M p(x'- ‘ZO
= \?O((a-*'lj
e
= 2o
O
z= lsOCn-2D i
N U+Y + 2= 3Bbo
. T IBols—-2) V2O + 34— O% = 3O
v=_132 " 5 U= 300 - 10B—12.0
= SYO -
= Y=13a°
- log” CHhe +hree onges cresdls

~ Crcle wWhoh has 3pd)

J
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Information about four different linear
relationships between C and n is shown below.

n C

rd 50\.
LR . %0’ O
w16 |130

=
]
iy

n C
10 30
2 >4
12 35
14 40 )(

4 a
14| E&
1 40
14
=g
Mt ML

NI;\gl‘

CEEE

How many of the linear relationships have

a rate of change of 5?

= slape

[ O I S T .

—

|

m=0
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Which graph shows a line that is perpendicular
to the line v = %.\' - 47 Neg oA
reciprocef
S‘cpc./
m= "3
q
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What is an equation of the linc What is the arca of the shape represented
ey :@r to the linc represcented by below?
YQC.\Q( D-S = —%x + 1 and My = Z i+ 14 cm »
G\Dfelﬁvil—lﬁh-c samc_@as the linca

represented by v = 7 + 5x7?

k B .
(3)’=%x+? \miwteceptis F

2.
X’y—g.\-l-S

C y=-3x+7

i
X_\’——"g.\-i'S

The total cost to repair a fridge, C, in
dollars, can be represcented by the cquation
C = 60r + 30, where 7 is the repair time in

hours. A = ,G“ _ A‘Z.
Which of the following statements is truc ;

about this rclationship? ( c) 84cm? =( "*X&O) — (19X g)

—
B

o )
X The hourly rate is $90. d 168cm?
/\b/\ The fixed fee is $90. = Yo - B¢
¢) The hourly rate is 366, and the fixed fee = =
O is $30../ S em
d The hourly rate is $30, and the fixed fee
is $60.
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B This diagram shows a greenhouse that is built
in the shape of a half-cylinder.

80m

Material to cover the roof costs $3/m?2. The
shaded ends will not be covered. Which is
closest to the cost of ct covermg the roof?

3$754o OA = M + 27T h

b $12570 o) ""_"\Llf

Ol

c $15080 =170 A )
TRSIB 3 m,z

= , 3 = ¥2 .

Ly
= 1539, {2

A cone is pictured below.

10 cm

s
L der | Hint:
Use Pythagorean theorem
as part of your process.
Which of the following is closest to the

surface area of the cone?

a 267 cm? s¥= 5% 4 12.%
@283cm- 2. g4 v
o
S = {lo9
S=.13
SPeore = TS 4TI -

TIATCEXB) +TT(s)*
2o4.a + g
&?Q\j Qy\?'

!
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P Which of the following composite shapes has
900° as the sum of its intcrior angles?

LEO(7-2D
= Q00

= |4y QO
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Please read the questions in the Question Booklet;
then fill in your answers below.

To indicate your answer, use a pencil to fill in the appropriate circle below completely.
Like this: @
Notlikethiss @ @& @ ®

Cleanly crasc your answer if you wish to change it and fill in the circle for your new answer.

Fill in only ene circlc for cach question.

ONORON
o) JNONO
@000
OGN N0
ONON NO
208N _BRORORO)
O} JONO)
22N ON NORO)




